
am=;= If]qut sfo{qmd tyf lzif{s ljlgof]lht jh]6 ?=

1 rfn' tkm{ -;fdflhs ;'/Iff eQf ;d]t_ ? 51,000,000.0      

s cfly{s ljsf; sfo{qmd tkm{ ? 7,669,496.0       

v ;fdflhs ljsf; sfo{qmd tkm{ ?= 9,691,600.0       

u ef}lts k"jf{wf/ ljsf; sfo{qmd tkm{ ?= 74,320,000.0      

3 jg jftfj/0f tyf ljkb\ Joj:yfkg sfo{qmd tkm{ ?= 1,179,000.0       

ª ;'zf;g ;+:yfut ljsf; sfo{qmd tkm{ ?= 13,400,000.0      

2 ljifout zfvf cGt{ut ;zt{ cg'bfg tkm{sf sfo{qmdx?M

s lzIff tkm{ ?= 78,767,000.0      

v :jf:Yo tkm{ 20,036,000.0

u u|fld0f phf{ sfo{qmd tkm{ 1,353,000.0

3 s[lif tyf e]6g/L sfo{qmd tkm{ ?= 2,451,000.0       

ª jftfj/0f sfo{qmd tkm{ ?= 274,000.0        

r jg Joj:yfkg sfo{qmd tkm{ ?= 100,000.0        

5 jfnljsf; sfo{qmd tkm{ ?= 53,000.0         

h dlxnf ljsf; sfo{qmd tkm{ ?= 836,000.0        

em hg;xeflutf sfo{qmd tkm{ ?= 130,000.0        

` o'jf tyf v]ns'b sfo{qmd tkm{ ?= 100,000.0        

3 k|b]z ;/sf/af6 tf]lsPsf] of]hgfx?nfO{ k|fKt cg'bfg sfo{qmd tkm{ ?= 18,300,000.0      
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